











2016+ FORD FOCUS RS

PERFORMANCE AIR INTAKE A7 |MISHIMOTO

INSTALLATION GUIDE

Remove the cable clip from the stock intake tube, and transfer
the clip to the Mishimoto induction pipe.

Remove the metal insert and rubber grommet from the stock
intake tube. Transfer the insert and grommet to the bracket
included with your kit. Then install the bracket to the Mishimoto
induction pipe with the included bolt as shown here. Leave the
bolt loose for now. (1x 10mm bolt)

Install the air inlet duct to the airbox. Push the airbox down to
engage the mounting pegs, and secure the air inlet ducts with
the rubber shrouding.

Tighten the bolts that secure the lower air inlet duct and both
mounting studs.

Remove the remaining metal inserts and grommets from the
stock intake tube and transfer them to the last bracket in your
kit. Set this bracket aside for now.

Install the Mishimoto induction pipe. Slip the pipe into the

silicone induction hose first. Connect the hose to the port on
the back of the induction pipe by pushing it on until it clicks.
Tilt the airbox toward the fender and lower the pipe into place.

Install the last bracket over the stud on the valve cover.
Turn the induction pipe to line up the bolt holes, and thread
in the provided bolts. Install the plastic stud and nut that you
removed earlier. Line up the bracket on the driver side with Secure the vacuum line to the induction pipe and reconnect
the hole in the valve cover and reinstall the original bolt. the pipe to the vacuum pump.

(2x 10mm bolts, 1x 10mm nut, 1x 12mm stud, 1x 8mm bolt)

MISHIMOTO | 18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 877.466.4744 | WWW.MISHIMOTO0.COM




2016+ FORD FOCUS RS

PERFORMANCE AIR INTAKE

INSTALLATION GUIDE

A7 |MISHIMOTO

Tighten the bolt that secures the bracket to the induction pipe.

Reconnect the sensor.

Adjust the position of the silicone tube and tighten the clamp
that secures it to the turbocharger. Then tighten the clamp
that secures the induction pipe to the silicone tube.

Tighten the bolts that secure the bracket to the induction
pipe. Then tighten the nut and stud that secure the bracket
to the valve cover.

Tighten the bolt that secures the driver side bracket to the
valve cover.

Lower the air filter into the airbox and slide the filter over the
induction pipe. Tighten the clamp on the filter to secure
it to the induction pipe. (1x worm-gear clamp)

\

Install the airbox lid and secure it with the seven bolts and
washers. (7x 4mm Allen bolts, 7x plastic washers)

Reinstall the engine cover.

MISHIMOTO | 18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 877.466.4744 | WWW.MISHIMOTO0.COM




